(D) r=Bms=
Young turing Program
/—/—

(20 77)

R

RAEBE — (B SCEAEFEAY S > HLE i By 1S lDE - feth 7 — S AR
FU T8 - SRIEEGR B ARG IR T M (EEEM MR % - AR —&sTHE
SEPRET AL Tk rh T B EERA T AYEERE - (HRIRIIRER R - —IRME LA > i
S EERG - BRI A GUE b i BT —(ERATTAEERE - &y TRES
— ARG R B - 5%5%%5%%%%5%HHT@F%&K‘H:J? AR ZEHRERE B A=Y
HIERER - B REHREREIR - ANESTNER EMRS o LU T R 2 E S Y
ELZEFRERIG -

B AR

B—1THZEET N, M, S5y ~ BEg ~ FIE R T 07 ZEE

%%T?K M7T o FTRE—(EERIVER B = E EEE u, v, w RFRE(EEEE whyE RS EEE
w, VIR {[E R T

Bi& S 17 FHTIE—(EEE  E R 8 AW AR u, wilFREE S (1 985k ) A
u ki > FEEEE w o

L ifanti 520
et (AR (i T A IS R R A L T TR R B B — (@t
YA LA -

B EE
e 1<N,M,5<100000

o 1<uv<N
e 1<w<1000000

AEH 1
1
3
4
1

wwwwg
wwﬁ;

B E G 1

1

29



w
DFBETE
Young turing program

B A 2

N WWRFR W
&SN DN wWwN
=

BB 3

1

HEPIEREA

F—(EFES (LE) - aTRERE—E % - HETEE 1 B 2 HUHIEiE s -

S (EE R (L) - RI(E R A G T (2 20 3) I EHD 1 AYEERESAT
FH=(EHER (LB ) - aTRERE—ETE - A GEHE TR GG E > HBERE )7
e 1N 4 YRR S

30



o

DFBESTE

Young turing Program

Q5 - Budget Cut

(20 points)

Description

The Tainlong Kingdom is a country with a complex transportation system. In order to develop
tourism in the capital, Rep. City councilor, Hachi put forward M proposals for direct subways
from the capital to other cities. After some precise calculations, it was found out that the
shortest distance between the capital and some other city was indeed pulled. But clever Rep.
Man saw something was wrong at a glance. He found out that even if some proposed subways
were not established, the distance of the new plan will not be affected. In able to point out the
problems at once, Rep. Man decided to find out the most subways path that can be removed
synchronously without altering the benefits of the new proposal. As Rep. Man's best staff, can
you tell him how many such subway paths can be removed together?

Input Format

The first line contains N, M, S- the number of cities, roads, and subways proposals.

The Following M lines represent the original path of the country.

Each line contains u, v, w - a bidirectional path of length w connecting u and v cities.

The Following S lines are the proposals.

Each line contains v, w - a bidirectional subways connecting city 1 (the capital) and city v with
length w.

Output Format

Print the max number of proposals that can be removed together without changing the benefits
of the Rep. Hachi's plans.

Data Range
e 1<N,M,S<100000
e 1<uv<N
e 1<w<1000000
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Output Example 1
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Input Example 2
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Input Example 3
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Output Example 3
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Example Explanation:

For example 1, the only proposal can be removed.

For example 2, both proposals do not shorten the distance between the cities and the capital.
For example 3, removing the first proposal alone does not cause any changes of the shortest
distance from the capital, but removing the second proposal will increase the distance between
the 4th city and the capital.
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